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® 24 - 0.5,23.5 <A <245

® 12.5 — 0.05, 12.45 < A < 12.55
@6.50 — 0.05, 6.45 < A < 6.55
@ 78.0 = 0.05, 77.95 < A < 78.05

® 4.5 — 0.05, 4.45 < A < 4.55
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® 6.50 — 0.005, 6.495 < A < 6.505

@13.4 — 0.05,13.35 < A < 13.45

@ 0.025 — 0.0005, 0.020 < A < 0.030
® 68 — 0.5, 67.95 < A < 68.05

@ 74— 0.05,7.335 < A <745

® 5.32 — 0.5, 5.315 < A < 5.325

~&B

AL Ak A

(Ml 3, S5t

[oke] A [t A < 9]

@ 0.025 — 0.0005, 0.0245 < A < 0.0255
® 68 — 0.5, 67.5 < A < 68.5

@ 7.4 0.05 735 <A <745

® 5.32 — 0.005, 5.315 < A < 5.325




17. §-2Jotn o] A =5 Ao Ao A HhaHste] 4
5tgke] 1800 THolal @ 2b7F 25 Y o, 92 ot o

AA Y 58 Tstolel,

[H4 3, ZFoF

-
.

=
= -
C|

Meb 1775

| 2
> =

(Qi]-)
(33h) oleh.
webd, Ak

— (A7) °lB&, 25 = 1800 —

1775 §o]tt.

18. T 243k 079 FAS A o] L Aot
27 9P AL (B, [ | e 54 Aol Ha w2
olct) A 4, 55

@ 11.4kg [0.1kg] - 50g
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